Review: Properties of Exponential Functions

Exponential Growth: Exponential Decay
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e This function is
'anraasmjf on its’
domain where b > 1

e The a1, coter the value of b,
the faster the growth

e This function is
decreasing onits’
R 7
domain where0 < b <1

e The ower the
value of b, the faster the decay

e The x-axis, y = 0, is the horizontal a 5Y mp 4-_9-}2 ]

¢ The y-intercept is 1.

¢ The domain is 1x e }

e Therangeis ?’1& R | Y >09
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Review - Working with Exponent Laws
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 Exponential functions and expressions can be expressed in different ways by changing the base.

EX 1 - Solve each equation by determining a common base:

a) 42.\::162.\‘—1
2 . 220~
4 = (4"

Qe — Hxx—2-
—2xXx. = —2_

(x:_'l.

C) 53+x — i

25

3 -2
- S

~+t>= —2-

b) 93x+l:27x
3+ | >
(> =GV

éx+z: 39C

2 > _ - 2

— —~6
‘O‘:C/S 4«& 2

2 - E

jox—S" Cx~—6

- 3

|ox—S = ex—¢
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Practice - Solve for x algebraically by determining a common base:

a)25x+2=8x'«-’) 25x+7_: 299& b) 8% = 1
S oc42 T B %DL; 1'% ©
T 1==9]
= = —|
xis 4 d) 1252 =25 = IVEE a2t
c)(_%j :L@:<g ) > (5) :(S>
3 81 3
2oc—6 = Hoex 2
x+S= ¢
. &
x~=-8

e) 5.r2—3x = 52.\'~4

1%- By = 2o~ Y

f) 3(5%*1) = 15

x|
5 —_ S—
2 . P
> — S+ 4 =0
( < -a)a-D=o0 x4l = |
=0 = O

D= ii/‘-{j’

Homework:

1. Solve for x algebraically by determining a common base:

3x-9 __ x+2
a. 12 '_} (lj v :27.‘t+1
PR b N2
- 2 N
Bx—9=0 (—gl> = (’3 )
=3 —2xx =3 xt D
s S . "7'
x= 7
=

Pl

c. 4% =16%*1
2 -\
pi-'a z)
4 = (a

-2
2x = 4%

= —
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d. 22x — 8x+3 e. 273m—1 — 9m+2

ot 3 33,7, ~ mE 2 ' s
e (Y = 3" -

3
q'y\/_,'a’:_ ‘Zf‘f\“f"-"
Dx = 3;;5{6) ZNn+\= -3
—x= 9 =" 20 = -9
= =G

g 625%%3 = p5y2

h. (2:;:1) =4 i 2(3*?%) =18
(") W 2yt el -any a2
'é‘jﬂz: 2y -4 - 2 "%:x:’; 3’2’
'Lty: e thi 'ZZ vac'?_——z
= = == A= 2
ly :

7 e—— (=1

k. (32)(81) =27

j. 27(33+1) =3

1 37"=33%"
Bac | -Ean 3 >
EESS > 2nty= 3 bdn = o
3 = ’3” .
n—=

DxAl = - 2 2 O,S
2x= -3

'96:— -\

2. Simplify uéing exponent laws:
7

) (3 W) b (3x2y°)(10x°y™)

25 —%
N 7 6xy° ) C)(4) ,
= ((1) C{) 3] = Bo T Y - :f_ e
[ e’/u]? ; '/2_}? T (2”5
= ~ = (> °

= ‘;‘1‘,%
sy - (3)-
= 2 WéL?’ 115
Answers:
1a)3 b-2 91 d)-9 &1 H-2 g-7 h2 )4 -1 k-3 D-1
2.a) xz b) S—xuc)———

125
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